



Vendor Ranking

Page 1 of 1

Letting: 04241004 October 04, 2024 10:30 AM Call Order: 004 Contract: E4X62

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 40512237201 (*)

Contract Desc: TREASURE COAST LIGHTING DEFICIENCIES

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMERICAN LIGHTING AND SIGNALIZATION, LLC.	Responsive	Winning bid	\$100,000.00	100.00%
2	UPRIGHT ELECTRICAL SERVICES LLC	Responsive	Non-Winning Bid	\$590,229.00	590.23%
3	SIGNAL TECHNOLOGY AND INSTALLATION CORP.	Responsive	Non-Winning Bid	\$1,356,892.68	1356.89%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE:

10/29/24

BEGIN TIME:

10:30 AM

END DATE:

11/01/24

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 250,000.00 and not the contractor's bid total.





Tabulation of Bids

Page 1 of 11

 Letting:
 04241004
 October 04, 2024
 Call Order:
 004
 Contract:
 E4X62

 District:
 District 4
 Counties:
 DIST/ST-WIDE
 Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 40512237201 (*)

Contract Descr: TREASURE COAST LIGHTING DEFICIENCIES

The work under this Contract consists of labor, materials, equipment and incidentals necessary to repair lighting deficiencies along State Highway System Indian River, St. Lucie, and Martin Counties.

- •ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$250,000.00 and not the contractors bid total.
- •PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- •REQUIRED SUBMITTAL WITH BID: Experience in Highway Lighting. Work experience form 850-070-11 must be submitted with the bid.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2024-25 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) AMERICAN L SIGNALIZA		(2) UPRIGHT E SERVICE		` '	ECHNOLOGY LATION CORP.
() indicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	01 (C	ONCRETE R	EPAIR (CY					
0005 0110 4 10 REMOVAL OF EXISTING	CONCRETE	25.000 SY	10,00000	250.00	100.00000	2,500.00	80.0000	2,000.00
0010 0120 1 REGULAR EXCAVATION		10.000 CY	10.00000	100.00	100.00000	1,000.00	106.67000	1,066.70
0015 0120 6 EMBANKMENT		10.000 CY	10.00000	100.00	100.00000	1,000.00	106.67000	1,066.70
0020 0520 1 10 CONCRETE CURB & GUT	ITER, TYPE F	20.000 LF	10.00000	200.00	200.00000	4,000.00	83.85000	1,677.00





Tabulation of Bids

Page 2 of 11

Letting	g : 04	1241004	October 04, 20	24 Ca l	II Order: 004		Contract:	E4X62	
	No / Item ID Description	Alternate	Quantity Units	(1) AMERICAN I SIGNALIZA		(2) UPRIGHT SERVIC			ECHNOLOGY LATION CORP.
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CONCRETE R	EPAIR (CY					
	0522 1 RETE SIDEWAI VAYS, 4" THIC		25.000 SY	10.00000	250.00	150.00000	3,750.00	172.53000	4,313.25
	0522 2 RETE SIDEWAI VAYS, 6" THIC		25.000 SY	10.00000	250.00	200.00000	5,000.00	206.07000	5,151.75
0035 CONDU TRENC		& INSTALL, OF	200.000 PEN LF	3.00000	600.00	25.00000	5,000.00	38.51000	7,702.00
	0630 2 12 JIT, FURNISH 8 TIONAL BORE	& INSTALL,	100.000 LF	5.00000	500.00	50.00000	5,000.00	80.63000	8,063.00
	0630 2 14 JIT, FURNISH 8 GROUND	& INSTALL,	100.000 LF	5.00000	500.00	20.00000	2,000.00	65.46000	6,546.00
0050 CONDU	0630 2 65 JIT, REMOVE,	BRIDGE MOUI	100.000 NT LF	2.00000	200.00	10.00000	1,000.00	33.54000	3,354.00
0055 PULL & COVER	0635 2 11 SPLICE BOX, SIZE	F&I, 13" x 24"	5.000 EA	50.00000	250.00	2,000.00000	10,000.00	2,247.65000	11,238.25
0060 PULL & COVER		F&I, 24" X 36"	5.000 EA	50.00000	250.00	1,500.00000	7,500.00	3,799.36000	18,996.80
0065 PULL &	0635 230 SPLICE BOX,	INSTALL	5.000 EA	50.00000	250.00	500.00000	2,500.00	1,768.02000	8,840.10





Tabulation of Bids

Page 3 of 11

Letting	j: 04	4241004	October 04, 20	24 Ca	II Order: 004		Contract:	E4X62	
	No / Item ID Description	Alternate	Quantity Units	(1) AMERICAN I SIGNALIZA		(2) UPRIGHT SERVIC			ECHNOLOGY LATION CORP.
() indi	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CONCRETE R	EPAIR (CY					
0070 PULL & S	0635 2 50 SPLICE BOX,	REPAIR	5.000 EA	50.00000	250.00	400.00000	2,000.00	924.73000	4,623.65
0075 JUNCTIO MOUNTE		RNISH & INSTA	10.000 LL, EA	20.00000	200.00	10.00000	100.00	2,462.97000	24,629.70
	0715 1 11 IG CONDUCT TED, NO. 10 (100.000 LF	15.00000	1,500.00	5.00000	500.00	4.29000	429.00
	0715 1 12 IG CONDUCT TED, NO.8 - 6		100.000 LF	25.00000	2,500.00	20.00000	2,000.00	7.18000	718.00
	0715 1 13 IG CONDUCT TED, NO 4 TC		98.000 LF	30.00000	2,940.00	25.00000	2,450.00	11.53000	1,129.94
	0715 1 14 IG CONDUCT TED, NO 1 TC		101.000 LF	25.00000	2,525.00	26.00000	2,626.00	15.75000	1,590.75
	0715 1 16 IG CONDUCT PR LARGER	ORS, F&I, NO.	50.000 .4/0 LF	25.00000	1,250.00	30.00000	1,500.00	22.26000	1,113.00
	0715 1 40 IG CONDUCT IG CONDUCT	ORS, RELOC <i>I</i>	100.000 ATE LF	1.00000	100.00	8.00000	800.00	13.42000	1,342.00
	0715 1 60 IG CONDUCT E, CONTRAC	ORS, REMOVITOR OWNS	251.000 E & LF	0.05000	12.55	3.00000	753.00	1.06000	266.06



Page 4 of 11

Florida Department of Transportation



Tabulation of Bids

Letting:	04241004	October 04, 20)24 Ca l	II Order: 004		Contract:	E4X62	
Line No / I		ate Quantity Units	(1) AMERICAN I SIGNALIZA		(2) UPRIGHT SERVIC			ECHNOLOGY ATION CORP.
() indicates	item is bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(CONCRETE R	REPAIR (CY					
LUMINAIRE 8	5 5 21 3 BRACKET ARM, RE 3 ND ARM ON EXISTI		1,500.00000	7,500.00	3,000.00000	15,000.00	3,081.68000	15,408.40
	5 5 30 BRACKET ARM, INS	5.000 STALL EA	100.00000	500.00	1,500.00000	7,500.00	1,006.16000	5,030.80
LUMINAIRE 8		5.000 EA NEW	1,500.00000	7,500.00	4,000.00000	20,000.00	3,836.98000	19,184.90
	5 11125 F&I, UNDER DECK, V	4.000 WALL EA	250.00000	1,000.00	1,000.00000	4,000.00	1,505.81000	6,023.24
	5 19 3 EPLACE EXISTING S	20.000 SURGE EA	1.00000	20.00	300.00000	6,000.00	705.28000	14,105.60
LIGHTING RE	5 21 2 PAIRS AND RETRO IT KIT FOR EXISTIN		99.99000	499.95	500.00000	2,500.00	3,594.08000	17,970.40
	526 1 DNNECT PLUG, SWI SIGN	25.000 TCH EA	10.00000	250.00	500.00000	12,500.00	713.90000	17,847.50
0150 0715 LIGHTING- DI	32 AGNOSTIC WORK	50.000 LO	10.00000	500.00	1,000.00000	50,000.00	2,666.67000	133,333.50





Tabulation of Bids

Page 5 of 11

Letting	g: 04	1241004	October 04, 20	24 Ca	II Order: 004		Contract:	E4X62	
	No / Item ID Description	Alternat	te Quantity Units	(1) AMERICAN SIGNALIZA		(2) UPRIGHT SERVIC			ECHNOLOGY LATION CORP.
() ind	licates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CONCRETE R	EPAIR (CY					
	0715 36 12 POLE, FRANG FORMER BAS		5.000 &I, EA	300.00000	1,500.00	500.00000	2,500.00	2,859.42000	14,297.10
	0715 36 14 POLE, FRANG ASSEMBLY	IBLE BASE, F	5.000 [&I, EA	5.00000	25.00	200.00000	1,000.00	760.49000	3,802.45
	0715 37 1 IG MAINTENA ELECTRIC CO BLY, F&I		5.000 - EA	10.00000	50.00	2,500.00000	12,500.00	4,792.11000	23,960.55
STANDA FOUNDA	0715 61100 POLE COMPLE ARD POLE ST ATION, 30' MC LENGTH	ANDARD	2.000 EA GHT,	10.00000	20.00	5,000.00000	10,000.00	14,995.86000	29,991.72
STANDA FOUNDA	0715 61200 POLE COMPLE ARD POLE ST ATION, 35' MC LENGTH	ANDARD	2.000 EA GHT,	10.00000	20.00	5,000.00000	10,000.00	15,240.86000	30,481.72
STANDA	0715 61300 POLE COMPLE ARD POLE ST ATION, 40' MC LENGTH	ANDARD	2.000 EA GHT,	10.00000	20.00	5,000.00000	10,000.00	16,322.61000	32,645.22
STANDA FOUNDA	0715 61400 POLE COMPLE ARD POLE ST ATION, 45' MC LENGTH	ANDARD	2.000 EA GHT,	10.00000	20.00	6,000.00000	12,000.00	16,759.11000	33,518.22



Page 6 of 11

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 0	4241004	October 04, 20	24 Ca	II Order: 004		Contract:	E4X62	
	No / Item ID	Alternate	Quantity Units	(1) AMERICAN SIGNALIZA		(2) UPRIGHT SERVIC			ECHNOLOGY LATION CORP.
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CONCRETE R	EPAIR (CY					
STAND	0715 61500 POLE COMPL ARD POLE ST DATION, 50' MO LENGTH		2.000 EA GHT,	10.00000	20.00	7,000.00000	14,000.00	17,233.56000	34,467.12
0195 BALLAS	E715 16 1 ST (F&I)		50.000 EA	50.00000	2,500.00	300.00000	15,000.00	670.77000	33,538.50
0200 LAMP (E715 17 1 HPS)		50.000 EA	100.00000	5,000.00	50.00000	2,500.00	1,040.66000	52,033.00
0205 LAMP (E715 17 2 MERCURY V <i>A</i>	APOR)	50.000 EA	0.05000	2,50	50.00000	2,500.00	1,040.66000	52,033.00
0210 LAMP (E715 17 3 METAL HALID	DE)	50.000 EA	5.00000	250.00	50.00000	2,500.00	1,040.66000	52,033.00
0215 LAMP (E715 17 4 FLUORESCEN	NT)	50.000 EA	2.00000	100.00	50.00000	2,500.00	1,040.66000	52,033.00
0220 LAMP (E715 17 7 HPS HIGH MA	AST)	50.000 EA	1.00000	50.00	50.00000	2,500.00	1,040.66000	52,033.00
0225 LAMP (E715 17 9 LED)		50.000 EA	10.00000	500.00	100.00000	5,000.00	1,075.16000	53,758.00





Tabulation of Bids

Page 7 of 11

Letting	j : 04	1241004 (October 04, 20	24 Ca	II Order: 004		Contract:	E4X62	
	No / Item ID Description	Alternate	Quantity Units	(1) AMERICAN SIGNALIZA		(2) UPRIGHT SERVIC			ECHNOLOGY ATION CORP.
() ind	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CONCRETE R	REPAIR (CY					
0230 LOAD CI BREAKE		(F&I) (SGL PO	10.000 LE EA	50.00000	500.00	500.00000	5,000.00	1,023.41000	10,234.10
0235 LOAD CI BREAKE		(F&I) (DBL POI	10.000 LE EA	250.00000	2,500.00	600.00000	6,000.00	1,040.66000	10,406.60
	E715 18104 ENTER PART & ENCLOSUR	(F&I)(BREAKE E)	5.000 R EA	1,000.00000	5,000.00	3,000.00000	15,000.00	1,686.59000	8,432.95
0245 LOAD CI (CONTA	E715 18105 ENTER PART CTOR)	(F&I)	5.000 EA	500.00000	2,500.00	2,000.00000	10,000.00	1,437.48000	7,187.40
	E715 18106 ENTER PART TRANSFORM	(F&I)(PHOTOC I)	5.000 CELL EA	50.00000	250.00	200.00000	1,000.00	1,868.80000	9,344.00
0255 LOAD CI (PHOTO	E715 18107 ENTER PART CELL)	(F&I)	5.000 EA	10.00000	50.00	200.00000	1,000.00	1,092.42000	5,462.10
0260 LOAD CI SOCKET		(F&I) (PHOTO	5.000 CELL EA	10.00000	50.00	200.00000	1,000.00	1,040.66000	5,203.30
	E715 18110 ENTER PART I AUTO-OFF/0	(F&I)(SYSTEM DN)	5.000 EA	10.00000	50.00	200.00000	1,000.00	1,437.48000	7,187.40
0270 LOAD CI ARREST		(F&I) (LIGHTN	5.000 ING EA	10.00000	50.00	200.00000	1,000.00	1,178.68000	5,893.40





Tabulation of Bids

Page 8 of 11

Lettin	g : 04	4241004	October 04, 20	24 Ca	II Order: 004		Contract:	E4X62	
	No / Item ID	Alternat	e Quantity Units	(1) AMERICAN SIGNALIZA		(2) UPRIGHT SERVIC			ECHNOLOGY ATION CORP.
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CONCRETE R	EPAIR (CY					
0275 LOAD (FUSE)	E715 18112 CENTER PART	(F&I) (CIRCU	5.000 JIT EA	15.00000	75.00	100.00000	500.00	1,178.68000	5,893.40
	E715 19 99 NG - CABLE R RENT SYSTEI		5.000 EA	100.00000	500.00	100.00000	500.00	1,006.16000	5,030.80
0285 GROUN	E715 22 1 ND ROD		20.000 EA	30.00000	600.00	50.00000	1,000.00	1,064.81000	21,296.20
0290 REFRA HEAD)	E715 23 1 CTER (F&I) (S	TANDARD CO	5.000 DBRA EA	5.00000	25.00	200.00000	1,000.00	967.86000	4,839.30
0295 REFRA COBRA	E715 23 11 CTOR , INSTA A HEAD	LL, STANDAF	5.000 RD EA	1.00000	5.00	200.00000	1,000.00	838.46000	4,192.30
0300 FUSE (E715 24 1 F&I) (POLE BA	ASE)	50.000 EA	100.00000	5,000.00	200.00000	10,000.00	686.30000	34,315.00
0305 DUMM\	E715 24 4 Y SLUG (F&I) (POLE BASE)	5.000 EA	5.00000	25.00	50.00000	250.00	688.02000	3,440.10
0310 FUSE H	E715 25 1 HOLDER (F&I)	(POLE BASE)	10.000 EA	10.00000	100.00	100.00000	1,000.00	731.16000	7,311.60
0315 FUSE H (F&I)	E715 25 2 HOLDER / DISC	CONNECT PL	10.000 UG EA	10.00000	100.00	300.00000	3,000.00	843.30000	8,433.00



Page 9 of 11

Florida Department of Transportation



Tabulation of Bids

Letting:	04	241004	October 04, 20	24 Ca	II Order: 004		Contract:	E4X62	
	/ Item ID	Alternate	Quantity Units	(1) AMERICAN SIGNALIZA		(2) UPRIGHT SERVIC			TECHNOLOGY LATION CORP.
() indicat	tes item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION:	0001	(CONCRETE R	EPAIR (CY					
0320 E7 SYSTEM P	715 29 ATROLLIN	G	24.000 MO	100.00000	2,400.00	5,000.00000	120,000.00	2,666.66000	63,999.84
		SHOULDER	10.000 LO	1,750.00000	17,500.00	1,000.00000	10,000.00	2,683.07000	26,830.70
0330 E7 DIAGNOST DOUBLE A		SHOLDER	10.000 LO	100.00000	1,000.00	1,500.00000	15,000.00	2,683.07000	26,830.70
		MED DBL ARI	10.000 M LO	100.00000	1,000.00	2,000.00000	20,000.00	2,683.07000	26,830.70
	715 32 5 FIC WORK (BRIDGE MTD	10.000) LO	100.00000	1,000.00	3,000.00000	30,000.00	2,683.07000	26,830.70
	715 32 6 FIC WORK (UNDERDECK	10.000) LO	100.00000	1,000.00	1,000.00000	10,000.00	2,683.07000	26,830.70
	715 32 7 FIC WORK (LOAD CENTE	10.000 (R) LO	800.0000	8,000.00	1,000.00000	10,000.00	2,683.07000	26,830.70
		OVERHEAD)(\$	10.000 SIGN LO	100.00000	1,000.00	1,000.00000	10,000.00	2,683.07000	26,830.70
0360 E7 DIAGNOST	715 32 10 FIC WORK ((CIRCUIT)	10.000 LO	570.00000	5,700.00	1,000.00000	10,000.00	1,920.00000	19,200.00





Tabulation of Bids

Page 10 of 11

Lettin	g : 04241004	October 04, 20	24 Ca	Il Order: 004		Contract:	E4X62	
	No / Item ID Alteri	nate Quantity Units	(1) AMERICAN I SIGNALIZA		(2) UPRIGHT I SERVIC		` '	TECHNOLOGY LATION CORP.
	dicates item is bid as Lump So		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(CONCRETE R	EPAIR (CY					
0365	E715 32 13	10.000	100.00000	1,000.00	1,000.00000	10,000.00	1,920.00000	19,200.00
DIAGNO	OSTIC WORK (TOP MOU	NT) LO						
0370	E715 34 03	10.000	19.50000	195.00	100.00000	1,000.00	718.74000	7,187.40
	POLE (HANDHOLE) (DOC IBLY) (F&I)	R EA						
0001	CONCRETE REPAIR (CY	Section Totals:		\$100,000.00		\$590,229.00		\$1,356,892.68
	Contract	Grand Totals:		\$100,000.00		\$590,229.00		1,356,892.68



10/04/2024

Tabulation of Bids

Page 11 of 11

Letting: 04241004 October 04, 2024 **Call Order:** 004 **Contract:** E4X62

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.